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HhE KA iy | TS FhiE KA ey | HHEEE

1 [ 732 R |=ZER 15,000 | 31 [AM@ BB B’ |ERER 20,000
2 |#k =i K |ZEE 16,000| | 32 |FcH R R |BERER 17,000
3 |& =& £k |[REAT 25,000 | 33 |KH 1= R [EERED 11,000
4 |%E HHB K [BER 13,000| | 34 | k&= LR R |BERER 12,000
5 | k& Cip B |BER 13,000 | 35 |[AI=E CIN B |ERREB 12,000
6 |#7FF & K BER 24,000| | 36 | (e R |BRER 10,000
7 [\LHE B— *k |[BER 25,000| | 37 |#8T K B |ERREB 70,000
8 | &Rk S B | RBRAT 11,000| | 38 |#&:= &I B |BRAD 8,000
9 [ERK B S B | KBRAF 13,000( | 39 [mJEB RE B |ERREB 8,000
10 |TEF HF B | KBRAF 15,000( | 40 [#L pE— R |EER 13,000
11 [¥&H B B | KRBRAF 17,000| | 41 |[#a& T B O|REARE 17,000
12 |[&H B B | KBRAF 13,000| | 42 |f=2E KAE B |#=)IE | 116,000
13 [ 1L ExE B | KBRAF 45,000| | 43 | B R |HR)IIR 33,000
14 [Fuib i d B |RBRAF 25,000| | 44 |h&a Eh GRS 16,000
15 |#f4 (P B | KBRAF 11,000| | 45 |Fz= = GRS 22,000
16 | A1 EF PN B | RBRAF 15,000 | 46 |sBAf —hX B|ERIE 8,000
17 [JEK =kl B |=RE 207,000| | 47 |& R= B |fEEE 12,000
18 [RE EF *k |=BE 8,000( | 48 |&#F Es ;3 R | EER 13,000
19 [BER fa= B |MELE 30,000| | 49 |&a&k X BB B |LBE 10,000
20|EW A &k |BIRE 23,000| | 50 |&aA X BB K |LBE 51,000
21 | =18 5| &k |BIRE 20,000| | 51 |&a4 X BB B |LBE 51,000
22 |k =48 *k |EBR 8,000 | 52 |&aA X BB B |LBE 12,000
23 |tk HEER | BRE 17,000 | 53 |&& X BB B |LBE 12,000
24 | MR BN R | BERE 207,000| | 54 |&aA X BB B |LBE 12,000
25 |F % FHK R | BEHMER 13,000| | 55 |&& X BB K |LBE 12,000
26 | FiCHE BE(= R | BAME 24,000| | 56 |k X BB B |LBE 240,000
27 |lL% 1 | BAME 14,000 | 57 |84 X BB B |LBE 180,000
28 | /K& BRI | EHR 25,000| | 58 |&aA X BB B |LBE 60,000
29 |FI8 =378 B |ERREB 11,000| | 59 |&4 R BB B |LBE 120,000
30 |/NE Rl B |ERREB 104,000( | 60 |&%& R BB B |LBE 20,000
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FWE KA FREH | FHEH ZHIE KA e | TS
61 | &A RER R |LEER 20,000| | 91 =3
62 | &A BB R |EER 12,000| | 92 B
63 | &A RER R |EER 12,000| | 93 =3
64 | BA RER R |EER 28,000 | 94 =3
65 | & RER R |EER 28,000( | 95 =3
66 | A BB R |EER 30,000| | 96 B
67 | &A RER R |EER 10,000 | 97 =3
68 | & RER R |EER 10,000| | 98 =3
69 | & RER R |EER 10,000| [ 99 =3
70 [BA BB N 10,000 | 100 B
REEEN BB R |EBE 10,000| | 101 B
72 AR BB I 10,000| | 102 B
73 [BA BB I 10,000| | 103 B
74 A& BB N 10,000| | 104 B
75 [BA BB N 10,000| | 105 B
76 | &8 #5 R |ERE 15,000( | 106 B
ANIES Zxals R |ERE 13,000| | 107 e
78 [IEER E¥F R |ERE 11,000( | 108 B
79 |1EBE EF R |ERE 24,000| | 109 B
80 |1 Rk EF R |HRE 24,000| | 110 Bk
81 |~TH B2 R |mR)IE 22,000( | 111 K
82 [H GIPS B [mRIIE 24,000| | 112 R
83 o 113 Bk
84 e 114 BR
85 e 115 BR
86 o 116 BR
87 BR 117 B
88 o 118 BR
89 B 119 BR
90 B 120 BR




